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120 + 3x = 2+ 2,50

Solucién: x = porque :
1"M. 12+3( ) =
2*M. 2(C )+25-=

2x+980= 4x+140

Solucién: x = porque :
1“"M. 2( )+98 =
M. 4( )+14 =

et Ix =430 ¥3 x

Solucién: x= porque :
1“M. 24+7(C ) =
2°M. 152+3( ) =

4x+910 = 4,60+ 5 x

Solucién: x = porque :
1°M.  4( )+91 =
2°M.  5( )+4,6 =

Ecunaciones 1 grade (3) Nfﬁij@

110+ 6 x = x+ 4,60

Solucién: x = porque :
1°M. 11+6(C ) =
2° M. ( )+46 =

5x+150 = 2x+ 7,80

Solucién: x = porque :
1“"M. 5( )+15 =
2° M. 2( )+78 =

140 +0x = x+ 2,20

Solucién: x = porque :
1*M. 5(C )+14 =
2°M. ( )+22 =

I x+ 220 = 70+ %

Solucién: x = porque :
1*M. 7(C )+22 =
2°M. 2( )+77 =




